| Efficiency vs Dxy |

0.02r
X

yo) C : : :
@018
> : : :

VAT R

Q) = H H H
(@014?““?“""? """" o

= C
(5]

0.012f++heoveevivenenni

001— .......
0.008_—----5-------5 .......
0.008f -
0,004
0.002f++irrrivenic

...................................

o+

Rati

0.95

—2520151050 510152025

| Efficiency vs Dz |

TP dxy (cm)

—=— DQM_V0001_R000000001__ Global
—e— DQM_V0001_R000000001__Global

__CMSSW_ckf__

RECO

___CMSSW_mkFitOriginal__

RECO

N 0.2
o

9.18F
&
Paer
(&) L
.14
()

0.12F

0.08F
0.06
0.04F
0.02F

Ratio

0.1~

................................................

2030
TP dz (cm)




	Contents
	Page 1


